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This paper describes the examination results of performance improvement of ductile fiber reinforced 

concrete (DFRC). As a result, followings were obtained; 1) Self-Compacting Concrete which includes a 

small amount of PVA fiber for prevention of concrete splinter from coming off can be manufactured. 2) 

Partially using of a large amount of fiber to DFRC gives high toughness to the specimens. 3) Mixed use 

of PVA fiber and steel fiber shows the best performance of DFRC utilizing the characteristics of both 

fibers. 

Key Words: Fiber Reinforced Concrete, PVA Fiber, Steel Fiber, Artificial Lightweight Aggregate, Self-

Compactability, Flexural Toughness 
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